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QUESTION 1

What type of person is likely to benefit most from being set measurable targets within a Green IT programme?
A. Someone who constantly belittles the team and its achievements.

B. Someone who believes it is too late for the project to make a difference.

C. Someone who is committed but wants to do everything at once.

D. Someone who only participates if it helps their career opportunities.

Correct Answer: C

QUESTION 2

Which of the following provides the BEST definition of \\'Green Wash\\'?
A. Solely focusing on the green elements in business processes.

B. Quickly upgrading the environmental aspects of a product.

C. Falsely claiming an organisation is green to improve its image.

D. Carefully creating environmental laws with no real powers.

Correct Answer: C

QUESTION 3

Which of the following is a goal of Green IT?
A. Ensure the sustainability of IT resources.
B. Ensure the availability of IT resources.

C. Ensure the interoperability of IT resources.
D. Ensure the scalability of IT resources.

Correct Answer: A

QUESTION 4
Which of the following is a benefit of extending the working life of a PC?
A. It reduces the energy used over the entire lifecycle of the PC.

B. It reduces the emissions caused by replacing monitors.
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C. It reduces the resources required for new computer manufacture.
D. It reduces the storage needed for packaging and manuals.

Correct Answer: A

QUESTION 5

Which of the following BEST describes the purpose of Cloud Computing?
A. Workload is evenly distributed amongst servers.

B. IT services are delivered virtually over the Internet.

C. Smaller servers replace large Data Centres.

D. Thin clients are deployed throughout an organisation.

Correct Answer: B
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